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Explain nuclear fission chain reaction. state uses of moderator, coolant and regulating rods in nuclear reactor. 14
OR

(i) Explain acid- base titration using potentio metry. 07

(ii) Write a note on Geiger-Muller counter. 07

Write short answer of any four. 04

(1) Give names of electrodes use in potentiometric acid bade titration.

(2) Give the full name of OD and %T in colorimetry.

(3) Write chemical reaction of nuclear fusion.

(4) Write symbol of radioactive uranium.

(5) Write equation of cell constant for conductometry.

(6) Write equation of dissociation constant for conductometry.

What is over voltage? Explain hydrogen over voltage. Explain the factor affecting over voltage. 14
OR

(i) What is polarization? Explain it. Explain the cause of polarization. 07

(ii) Write a short note on reversible potential. 07

Write short answer of any four. 04

(1) Write chemical reaction occurring at anode electrode.

(2) Write chemical reaction occurring at cathode electrode.

(3) What is electro density?

(4) Write unit of electro density.

(5) What is effect of temperature on over voltage.

(6) What Tuffel’s equation.

Define space lattice. Derive the Bragg’s equation used for determination of crystal structure. 14
OR

(i) Write a note on miller’s indices. 07

(ii) Explain the lattice method used to determine Avogadro number with example of NaCl. 07

Write short answer of any three. 03

(1) Write wavelength of x-ray.

(2) Give an example of face centre cubic lattice.

(3) Which gases are used in ionization chamber of Bragg spectrometer?

(4) Draw the figure of body centre cubic lattice.

(5) Write the value of Avogadro number.

What is salt effect? Explain in detail the primary salt effects. 14
OR

(i) What is consecutive reaction? Derive its equation of rate constant. 07

(ii) What is simultaneous reaction? Write a note in side reaction. 07

Write short answer of any three. 03

(1) What is opposite reaction?

(2) State the order of reaction for inversion of can-sugar.
(3) Which type of chemical reaction is nitration of phenol?
(4) What is indicated by the ~ve value of AH?

(5) Write an equation for activity of ions.
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